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(2) £V e liss
o ((aij)ng ) (bij)ng) = a11bi1 + a12b12 + a21021 + az2bs.
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. (16 43) & V =R°® 2HABHARNBRWKINER, T e L(V). #%
o1 = (1,2,0), ao = (0,1,2), as = (2,0,1);
T (on) = —(1,0,2), T (as) = —(2,1,0), T (a3) = —(0,2,1).
(1) R T XT V By HRERIHRE;
(2) WEM] T 22— IEACAR s

(3) EM] T R—Agim . (e V EALIERE: {n, 8, 7} 15 T(n) =
—n, T(B) = B, T(y) = v, SEMNHM, FFAEYAEE n 5 T(a) = a -
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(1) % A BIHOK L m x n BHEHE, WRERERE r (ATA) = r(A);
(2) ¥ A BEHIR L m x 0 B, WAERERR r (ATA) = r(A)
(3) WV, W BEUS F &R, WV UW R
(4) SERERER T I IA 3

i. AT = A;
ii. ATA=FE (BA(THEFE);
iii. A2=F.





